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But why, let us require an amount of slaughtering, etc.

Overview

The X 1 queried, in a case where 121 MXYYY 0°1w, do we require one My for
both, or a separate My for each one. The X773 brought proof that one M1¥°w for both
is sufficient from a Xn>12 which stated that partners who stole and slaughtered are
liable, even though there was only one slaughtering; it was a '® 7w for both of
them. moo1n explains that the proof is from 72w, but not from 121,
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However there is no proof (that 17157 'X 1v°v) from the Xw> where they stole, but

did not slaughter -
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For there (by stealing) there is no minimal requirement, for the payment of 55>

is applicable for any item and for any amount;? however for the payment of ' "1, we
need a live animal, and there was only one animal ('X 7°w) and nevertheless they are both 12>,
proving that 17137 'R MW,

Summary
There is no proof from 1213w o<W, for there is always a M¥°w for each one.

Thinking it over

1. Moo in 727 "7 R,A0 P"2 rules that one is not liable for %92 for stealing half a
pomegranate, w"»v. How can n»oIn write here that H912 is 127 %52 a1 (and will
Tomw who stole one pomegranate be 211 since each one stole only half)??

2. Is one 993 2>°11 for stealing less than a 711D MW?*

! The o"wn non cites the N3 in 2,7Y P2 and 8,7 2"2. In both places there the X172 states 1720 1233 Pomws, but
it does not mention 12> M2awY 1213 oMW, The XA here is asking only from 120 as it states 717 77720 MPW v2H
121, but it does not state 31 717 723 NYW YAH.

2 Therefore no matter how little they steal, there will always be a ""ww' for each one. See ‘Thinking it over’ # 1 & 2.
3 See R"y1» 0"wn 11703 and AT K.

4 See oinax "1,
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